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Ans. 1: (c)

B.E.
Solution: B.E.= (Mp +M, —MH) =M, =M,+M,——— whereB.E.=-13.6eV .
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Ans. 2: 0.185
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Solution: According to Bohr Theory — =R L—z - B
. n, n n=3
The longest wavelength in the Lyman series is n=2 H'oz
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The longest wavelength in the Balmer series is
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Ans. 3: (d)
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Solution: —=R| ——— |, where R=1.097x10"m
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T 1.097x10° 599 C1.097x10’

This wavelength corresponds to RF Thus correct option is (d)
Ans. 4: (d)

Solution: From Bohr model the kinetic energy and Total energy <E> and kinetic energy <T>

<T>:—@ where E, :ﬂ, Eezﬂ:T—g=£=E=l6il
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